BB A A (T
A -
MBELWEBERRNORBEK ("5 HF 48 KEE)
1 RBEHRRELERKR 3 EmE (B AELEKR
(1) B8t 4Ah # B F B
FE: S S A £ B & B F R B F &
s & & [ 3% 6 463 HEACIEREIRE] IR AEAENE
| w1 & 416 7 477 | E|E| |2 a8 B & B ew B | BB e E
x| HEEEK -21 -1 -14 Bx| 2 21 ¢ 12 24] 1 26 -13 -1 -14
t | fEEE -5. 0% -14. 3% -2.9% wose| 2 4 6 - n 13 -5 -2
Al 16 17 61| 2¢ 2| 700 57| 3: 1] 66| 4 [-1i1 4
(2) BAMEZEE s | 27 321 107( 1 130f 82 1 88| 25 42
™ ® & B & s | 14 14] 49 57 64 69[ 15 2
2 & & 108 1 124 e[ 12 14] #4 47| 54 59(-10 12
| B & 108 4 120 wm| 7 7| 24 26 21 28] 3 -2
EREEEEE: 0 -3 4 wasz| b 5| 12 13 19] 1 2 -7 [ 11
b | tEEE 0. 0% -75. 0% 3. 3% w7 10 14 1 1| 16| 14 14 1Ti1] 2
mm| 7| 1| 8] 23] 20 1| 24| 34| 17 1| 4of-11 | 1 16
(3) MBBHZ - BRAREKR (i) mE| 4 4] 10 10 9 a1 -4
BlA|lx| x| x]2]x &t =l 3 3 23 3| 18 20 5 1
3 33| 42 [ 47 56| 50 | 35| 32 295 =& 2 4] 11 16 9 16 2
B | egaem|s. 4%]10 611 o814, 25]12. 78] 8. 9% 8. 1%] 74 7% 5t [108] 1[124] 395] 6 4] 463] 416] 7: 2] 477[-21 [-1 i 2 [-14
JEE 1 1 2 1 5
[ 9 6 |20] 3] 16]25]11] 100
®| e=tatbzx 2. 3% 1.5%| 5. 1% 3. 3%| 4. 1% [ 6. 3%| 2. 8%] 25. 3%
%E 1 i 4 THETAIRISET-EESE A MR (RED
2 BETEHELIRR RE | #IFE |#IFEL XE | IE |ERL
(1) EHEERRIECER () (EEH) B AW 1 -1 EN
IAEREARE st BiE] &k = % A EN m BT
HE | BE | B2 | = 5 ol omw L (LIET EEG
X & 2 4 6 5 i1 no 5 FH Bl m 2 1 1
[% m 1 1 1 ®RoJIE 2 2 #H15~E]
EEEI R 2 4 1 512 A Hom 1 -1 EEEE
[= m| 1 2 3 6 511 e 1 1 B E A
S T & AT
(2) EBBKA - BRA - EREHAIF SR () ETT = & BT
TEEEE h— I B EE@E® HEEIET
A mEse)| B85 | zom| & [a-7 &7 Bz 0 e m
& & 1 1 5 6 1 2 A HJIET 1 -1 PR B ST ET
[% m 1 1 1 & B X 8 BT
S 5 1 7 2 7 4 1 &
[ ma] 1 4 1 6 1 FIEL 1 1 . =
5 E o & &t 6 7 -1
(3) F#ER - BERAIFEE K XEEEBRRV (B) SHEMRNA 51 VIZDNTIE, RERDOHETH TEH L
£ = & - | &
clalovm # E 5 4 BhORCEHROER
| & Nt | R | B B | g | .
| & | o & FERY | R [ BB
$|T§ Zﬁ f 4 ? 8 g e o P %E%ﬁ%%&?%@%%i(81@%'&3‘@@?)ﬂ?ﬁ%%wémcfﬁ%
WoF 1 1 4| 2 7
= m™ 1] 1 [4]1 6
(4) JKEER - FEBRIFEE K
m 2 B|%| %
HikE| I kiBE|&|T| 0| &
BEiE|HIBIH|E|E| 1
&= #|3 2 1 6
EE
awmE| 3 4
i & 43 1 1 1 7
= &5 111 1
=ns| 1 1 2
% W HERAL ConzEs [ A ( ) | 6 ZE-AREXNAOEES (4 5% )
LT At D B o 7= A BT E 1 A (33.3%) 2 B |agexidt)| Z B | ERB| AR|EE|E R |[FFU
KE 798 137 14 20 58 33 6 6
(5) BUEBERIC L ATEH (43 B4 753 124 12 15 45 34 11 7
sgormEsans | XE 6 e aESHK 2 # ( 33.3%) I 45 13 2 5 13 -1 -5 -1
BEAICH->RTHRR
o wEsgonn | ge 7 po gmss 1 ( 14.3%) =l 6.0% 10.5% | 16.7% | 33.3% | 28.9% | -2.9% | —45.5% | —14. 3%

X HBEEHE. BEREUATORERVRATETH > -REFREST,




